Thursday, August 29, 2019 947 AM
Factor: rg Review (Control)
Example: Factor:

$$3\chi^{3} - 7\chi^{2} + 15\chi - 35$$

 $= (3\chi^{3} - 7\chi^{2}) + (15\chi - 35)$
 $= \chi^{2} (3\chi - 7) + 5(3\chi - 7)$
 $= \chi^{2} (3\chi - 7) + 5(3\chi - 7)$
 $= \chi^{2} (3\chi - 7) + 5(3\chi - 7)$
 $= (\chi^{2} - 3\chi^{2}) + (-3(3\chi + 27))$
 $= (4\chi^{2} - 3\chi^{2}) + (-3(3\chi + 27))$
 $= \chi^{2} (4\chi - 3) - 9(4\chi - 3)$
 $= (4\chi - 3)(\chi^{2} - 9)$
 $= (4\chi - 3)(\chi^{2} - 9)$
 $= (4\chi - 3)(\chi^{2} - 3)\chi^{2}$
 $= \chi^{2} + (5\chi - 3)(\chi^{2} - 9)$
 $= \chi^{2} + (5\chi - 3)(\chi^{2} - 9)$

Factoring the Sum and Difference of 2 (ubers)
Example:
$$x^3 + \beta$$
 Factor.
 $= (x + 2)(x^2 - 2x + 2^2) = (x+2)(x^2 - 2x + 4)$
Difference and Sum of (ubers Factorization
 $a^3 + b^3 = (a + b)(a^2 - ab + b^2)$
 $a^3 - b^3 = (a - b)(a^2 + ab + b^2)$

Chack:
$$(a + b)(a^2 - ab + b^2)$$

= $a(a^2 - ab + b^2) + b(a^2 - ab + b^2)$
= $a^3 - a^2b + ab^2 + ba^2 - ab^2 + b^3$
= $a^3 - a^2b + ab^2 + ba^2 - ab^2 + b^3$
 $2^3 = 8$

$$z = a^3 + b^3$$

 $z^3 = a^7$
 $z^3 = a^7$

.

.

,

.

Ex: Factor.
$$8x^3 - 125$$

 $= (1x)^3 - (5)^3$
 $= (2x)^3 - (5)^3$
 $= (2x) - 5)((2x)^3 + (2x)(5) + (5)^2)$
 $= (2x - 5)((2x)^2 + (0x + 25))^3$
 $= (2x - 5)((4x^2 + 10x + 25))^3$
 $= (2x - 5)((4x^2 + 10x + 25))^3$